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Topic 21:

Modal verbs.

Complex sentences.

Modals are different from normal verbs:

1: They don't use an 's' for the third person singular.

2: They make questions by inversion ('she can go' becomes 'can she go?').

3: They are followed directly by the infinitive of another verb (without 'to').





Choose the appropriate answer.

1. The new student ……… be German, he doesn’t speak German 

fluently.

a) shouldn’t          b) mustn’t           c) can’t 

2. Someone’s knocking at the door. It …………… be James.                  

a) ought to            b) must                c) can’t

3. You …………… buy a dictionary; there are a lot in class.

a) may not b) mustn’t           c) needn’t

4. People ………… fasten seat belts when travelling by car.

a) must                   b) can                   c) should

5. Dad is taking a nap; you ………… make so much noise, children.

a) mustn’t               b) might not      c) needn’t



A complex sentence is a sentence that contains an independent 

clause and one or more dependent clauses. An independent clause 

can stand alone as a sentence, but a dependent clause even though 

it has a subject and a verb cannot stand alone. 



Find the appropriate endings to the sentences:

1. Dad put more wood on the fire … a) that he has made a mistake.

2. How it happened … b) I will be ready.

3. It is strange … c) when we met.

4. By the time you come … d) since it was very cold.

5. Do you remember the day … e) which was on TV last night?

6. Is that the woman … f) why Cherie should be angry with me?

7. Can you think of any reason … g) whom we saw at the cinema 

yesterday?

8. Did you see the film … h) is not clear to anyone.

9. He is the person for … i) where we stayed in when we were in 

London.

10. Here is the photo of the hotel … j) whom very few people feel much 

sympathy.


